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Verbal Ability & Reading Comprehension (VARC)
Question 1) In the following questions, one part of the sentence may have an error. Find out
which part of the sentence has an error and click the button corresponding to it. If the sentence
is free from error, select the "No error" option.

The General Manager of the industry has felt (A)/ that there is no use of (B)/ discussing about
the problems with the labourers. (C)/No Error (D)
1) A
2) B
3) C
4) D

Question 2) In the following question, select the odd letters from the given alternatives. Options:
1) ACFJ
2) RTWA
3) NPSV
4) HJMQ
5) BDGK

Question 3) In the following question, from the given alternative words, select the word that
cannot be formed using the letters of the given word.
ENCYCLOPEDIA
1) CONE
2) CYCLE
3) NOISY
4) PEACE
5) PEDIA

Question 4) The sentences given with blanks are to be filled with an appropriate word(s). Four
alternatives are suggested for each question. For each question, choose the correct alternative.

Do your best and we'll back you ______.

1) on

2) in

3) out

4) up



5) None of these

Question 5) In the following questions, one part of the sentence may have an error. Find out
which part of the sentence has an error. If the sentence is free from error, select the "No error"
option.
She enquired from the stranger / who was he and / what he wanted from her

1) She enquired from the stranger

2) who was he and

3) what he wanted from her.

4) No Error

5) None of these

Logical Reasoning
Question 1) In a certain code language, "RAIN" is written as "OHBQ". How is
"SUMMER" written in that code language?
1) QFLNTT
2) QDLLTR
3) SFNNVT
4) SDNLVR
5)SOQWER

Question 2) In a certain code language ‘EXAMINATION’ is written as ‘FYBNJOBUHPM’. Which
word would be coded as ‘QPQVMBS’?
1) ANALYSE
2) FRIENDS
3) ROUTINE
4) POPULAR
5) PATIENT

Question 3) Select the related letters from the given alternatives. FDH : LJN :: RPT : ?
1) XYZ
2) WUY
3) XVZ
4) SUV
5) None of these

Question 4) A series is given, with one term missing. Choose the correct alternative from the
given ones that will complete the series. DEC, HIG, LMK, PQO, TUS, ?
1) XYZ



2) WXY
3) XYW
4) YZA
5) None of these

Question 5) A series is given, with one term missing. Choose the correct alternative from the
given ones that will complete the series. YY, YOY, YYYY, YYOYY, YYYYYY, ?
1) YYYOYYYY
2) YYYOYYY
3) YYYYYYY
4) YYYOYYYO
5) None of these

Quantitative Aptitude
Question 1) The ratio of the number of boys and girls in a class is 2 : 3. The average weight of
boys and girls in the class is 18 kg and 21 kg respectively. What is the average weight (in kgs)
of all the boys and girls together?
1) 99/5
2) 101/5
3) 109/6
4) 96/5
5) 100/5

Question 2) After two successive discounts of 20% and 12% an article is sold for Rs
16896. What is the marked price (in Rs) of the article?
1) 21500
2) 23800
3) 22000
4) 24000
5) 25000

Question 3) 5 years ago the average age of a family which includes father, mother and a son
was 35years. 3 years ago the average age of father and mother was 46 years. What is the
present age (in years) of the son?
1) 20
2) 22
3) 24
4) 26
5) None of these

Question 4) In a row of girls, position of Shreya from left side of the row is 11th and Aishwarya
from the right side of the row is 17th. If Reema is sitting just in the middle of Shreya and
Aishwarya and her position from Shreya is 5th, then how many girls are sitting in the row?



1) 35
2) 37
3) 26
4) 29
5) 31

Question 5) The ratio between the ages of Natasha and Shivani is 5:6 respectively. If the ratio
between the one third age of Natasha and half of Shivani’s age is 5:9, then what is Shivani’s
age?
1) 15 years
2) 21 years
3) Cannot be determined
4) 14 years
5) None of the above


